Coir of commerce comes from which part of coconut

a. Epicarp b. Pericarp c. Mesocarp d. Endocarp

Chlorophyll contains

a. Potassium b. Iron c. Manganese d. Magnesium

Excretory organs of earthworms are

a. Malpighian tubules b. Nephridia
c. Kidneys d. Flame cells

In a plant red colour (R) is dominant over white (r). A cross was made
between a red flowered plant and a white flowered plant. The offspring
were 50% red and 50 % white. What is the possible genotype of the red colored

plant.
a.RR b.Rr c. Rr d. None of these

The forelimb of frog , lizards, man and birds are examples of

a. Missing links b. Arms relationship

c. Analogous organs d. Homologous organs

Peripatus is a connecting link between

a. Protozoa and porifera b. Annelida and mollusca

c. Annelida and arthropoda d. Molluca and echinodermata

The endosperm of angiosperms is

a. Haploid b. Diploid c. Monoploid d. Triploid

The pesticides having low biodegradation and high affinity of fatty tissues

are
a. Organochlorines b. Organophosphates  ¢. Traizines d. Pyrethroids
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Which of the gases mainly increases the global warming

a. Carbon monoxide b, Carbon dioxide c. CFC d. Nitrous oxide

10.

Minamata is due to

a. Cd poisoning b. Mn poisoning c. Mg poisoning d. Hg poisoning

11.

Which organism is coming under GRAS status

a. E.coli b. Pseudomonas c. Lactobacillus d. Bacillus

12

DDT is which type of insecticide

a. Organophosphate b. Organocholrine c. Carbamate d. None of these

13.

Edible vaccine for foot & mouth disease

a. Banana b. Tomato c. Potato d. Sugar beet

14.

Height of man is an example of

a. Monogenic inheritance b. Polygenic inheritance

c. Diplogenic inheritance d. None of these

In which plant male heterogametic condition is see

15.
a. Humulus lupulus b. Vallisnerea spirails
c.Humus japanicus d. Hydrophilla
16. A non symbiotic nitrogen fixer
a. Klebsiella b. Rhizobium c. Mycorrhiza d. Vibrio
17. The Shine Delgarno box in prokaryotes are meant for

a. Promoter for transcription b. Initiation of Transcription

c. Ribosome binding region for translation d. Site for post translational modification
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Which of the following is not a ribozyme

18.
a. Peptidyl transferase b. Telomerase
c. Ribonucleotide reductase d. Rnase P
19. Rho dependant termination is observed in
a. Eukaryotic replication b. Prokaryotic transcription
c. Eukaryotic translation d. Prokaryotic translation
20. The pH of a 0.01 N sodium hydroxide is
a.10 b.12 c. 2 d.8
21. NMR is based on
a. Nuclear fission b. Charge of nucleus
c. Magnetically moment of the nucleus d. Electrical moment of the nucleus
22. Instrument used for measurement of optical activity is
a. Spectrophotometer b. Polarimeter
c. Calorimeter d. Infantometer
23. Covalent bonding is between two molecules requires
a. Electron with opposite spins b. No effect of spins
c. Electron with same spins d. Electron with same orbital
24. Which of the following methods could be used to check the molecular weight
of your purified protein
a. SDS PAGE b. Analytical SEC
c. Mass spectrometry d. All of the above
25. The thermodynamic quantity that expresses the degree of disorder in a

system is .........
a. Enthalpy b. Entropy c. Free energy d. Heat energy

Scanned by CamScanner



Scanned by CamScanner



